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} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully. {

Questions ONE to FIVE: Choose one answer for each of the parts 1 to 4.
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bladder
kidney
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QUESTION FIVE
carries impulses to the brain
contains ciliary muscles
controls the size of the pupil
focuses light on the retina

Questions SIX and SEVEN: Choose two answers for each question.

blood vessels
brain
liver
lungs
pancreas

~__QUESTION SIX

QUESTION S

the leaves lost their cuticle
the leaves photosynthesised
the leaves respired

the leaves transpired

the leaves wilted

Questions EIGHT to TEN: Choose one answer for each of the parts 1 to 4.
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QUESTION TEN
A B C D




At T e e T i B e i e i bl S =
R HIGHER TIER 2

} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully. {

Questlons ONE and TWO: Choose one answer for each of the parts 1to 4.
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Questlons THREE and FOUR Choose two answers for each questlon
S0 ~ QUESTION THREE e
‘ it does not go rusty Q =

. it has a shiny surface b
‘ it is a fairly expensive metal S b
itis a good conductor of electricity L

 itis easy to bend and shape

( : 55t QUESTION FOUR T |
[> at the negative electrode, nickel ions gain electrons ‘ O IR

at the positive electrode, the silver atoms lose electrons Lo |
the silver bar is set up as the negative electrode .
the solution contains nickel ions

. the solution contains silver ions e _,| :

Questlons FIVE to TEN: Choose one answer for each of the parts 1 to 4,
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